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int max( int x , int y ) {

}

int my_foreach( int array[] , int size ,
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(£)000000000 ) D0000O0,0000000

0000 (25)

1. 000000000000000000 O(NlegN)ODUOOODOODOOOODOOODO(13)
N =1000000020 msec] 00D O0OOOON=100000000000000000000

2. 0000000000O00000000

int sum( int x , int y ) {
return x +y ;

}
int all ={3,5,9,11};

if (x>=y
return x
else
return y ;

printf( "ans=Yd\n" ,

my_foreach( a , 4 , max ) ) ;
printf( "ans=Y%d\n" ,

my_foreach( a , 4 , sum ) ) ;

int (*£f)( int , int ) ) {
int ans = array[ 0 ] ;
printf( "%d " , ans ) ;
for( int i =1 ; i < size ; i++ ) {
ans = (xf)( ans , array[ i ] ) ;
printf( "Jd " , ans ) ;

|

|

|

|

|

|

I void main() {
|

|
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return ans ; |
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int hash_func( char s[] ) {
int sum = 0 ;

#define HASH_SIZE 10

|
| ;
struct NameAge { | for( int i =0 ; s[ 1 ] '= °\0’ ; i++ )
char name[ 20 ] ; | sum += s[ i ] ;
int age ; | return sum % HASH_SIZE ;
s |}
struct NameAge* table[ HASH_SIZE ] ; // 0000000NLLOO0000000
void entry( char nm[ 20 ] , int ag ) { // 0000O0O0O0O0O0O0O0O0OCOCO
int idx = hash_func( nm ) ; // 0000000000000 0000

while( table[ idx ] != NULL )
idx = (idx + 1) 7% HASH_SIZE ;

if ( table[ idx ] == NULL ) {
table[ idx ] = (struct NameAgex*)malloc( sizeof( struct NameAge ) ) ;
strcpy( table[ idx ]->name , nm ) ;

table[ idx ]->age = ag ; | find( nm ) {
} |~ (A4 ~rmmmm mmmmmes (B)4
| int idx = 5
void main() { [ aiaiatatetatatata it (C)4
entry( "t-saitoh" , 57 ) ; | while( table[ idx ] ) {
entry( "tomoko" , 45 ) ; | I (D)4
entry( "motoko" , 20 ) ; // collision | if ( strecmp(
I e
printf( "%d\n" , find( "tomoko" ) ) ; | return idx ;
printf( "%d\n" , find( "motoko" ) ) ; | idx =
S
I return -1 ;
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